EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AESS TR EFPEME L Sv/h)
EFS fk0O PR Bz
No. | HvETH =0 FHERH BE | om (PR ABOF91E) %
m 5[ %140 5@ %140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
50cm 0.05 0.05 0.07 0.07 0.05 0.05
1237 [HE™ REE HEEREBEERE 9/ 148
1m 0.04 0.04 0.06 0.06 0.05 0.05
50cm 0.06 0.06 0.06 0.06 0.06 0.06
1238 |[fBE™ RER HERER 9A138
1m 0.06 0.06 0.07 0.07 0.06 0.06
o 50cm 0.07 0.07 0.05 0.05 0.06 0.06
1239 [(fET™ REE HKOWENMREE 9A8H
1m 0.06 0.06 0.04 0.04 0.05 0.05
50cm 0.07 0.07 0.07 0.07 0.07 0.07 .
1240 (Y8BT REE FRBEREE 9A8H [EF] No1251AEYSHBEELRA
1m 0.06 0.06 0.06 0.06 0.06 0.06
= = Ny 50cm 0.05 0.05 0.07 0.07
1241 [iEH  |REE BEVILBRIBERELSTT | open [4pE-ERES ] H|L
DFEIMRAE m 0.06 0.06 0.07 0.07
) N 50cm 0.08 0.08 0.09 0.09 0.07 0.08
1242 (Y8E™ REEA RAIWRIVC I LREEEFSEE 9/ 138
1m 0.08 0.09 0.08 0.08 0.07 0.07
50cm 0.06 0.06 0.06 0.06 0.07 0.07
1243 |fHE™ *REH I%KIDSF5F 98108
1m 0.05 0.06 0.06 0.06 0.07 0.06
. 5o . 50cm 0.05 0.05 0.05 0.05 0.04 0.04
oasligE®m  |mEE SLRRLARERARANGLL | o515
Al 1m 0.06 0.06 0.04 0.04 0.05 0.05
N 50cm 0.05 0.05 0.06 0.06 0.05 0.05
1245 (f8E™ YFEE HEMILKEFHHE 9/ 108
1m 0.05 0.05 0.05 0.05 0.05 0.05
N 50cm 0.08 0.07 0.09 0.08 0.07 0.07| . .
1246 (8B ™ HHE HEHMIRELHE 981380 [#ZE-BES] ITEHICKYRETIE
1m 0.07 0.07 0.08 0.08 0.08 0.08
L 50cm 0.06 0.06 0.06 0.06 0.07 0.07
1247 |(Y8E™ TR HAEMILEIKRNH#E 9A138
1m 0.06 0.06 0.05 0.05 0.06 0.06
N 50cm 0.06 0.06 0.07 0.07 0.07 0.07
1248 (YHE™ TR AETIL/\BLHE 9A9H
1m 0.06 0.06 0.06 0.06 0.07 0.07
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

BESS FREREFAEME(U Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | iBr#t K5 SREL i (R ARDF k) %
m 5[ 1408 5[ 140 5[ %140
PEHR | AERE | AR | HERE | AEHE | TR
50cm 0.05 0.05 0.06 0.06 0.06 0.06
1249 (Y8BT YFEE A 4 FEE 9/ 148
1m 0.06 0.06 0.06 0.06 0.06 0.06
50cm 0.05 0.05 0.06 0.06 0.05 0.06
1250 [(fHET™ YFEE RENHHE 9/ 148
1m 0.05 0.05 0.06 0.06 0.05 0.05
. 50cm 0.07 0.07 [IEF] Not24opisRiEREE A
1251 |[fHE™ S E] HEYHHE 9A8H [REO I &E-BEE] IBFICKYAESR
1m 0.06 0.06 Gl
50cm 0.06 0.06 0.09 0.08 0.07 0.07
1252 |[fBE™ INERR HHEMILKE/NER 9/ 108
1m 0.06 0.06 0.09 0.09 0.06 0.07
50cm 0.07 0.07 0.07 0.07 0.07 0.07
1253 |[fBE™ INERR HETIL PR E—/NER 9A8H
1m 0.07 0.07 0.07 0.06 0.07 0.07
50cm 0.06 0.07 0.08 0.08 0.06 0.06
1254 |[fBE™ INERR HHETILRAE /R 9/ 148
1m 0.07 0.07 0.07 0.07 0.06 0.06
50cm 0.06 0.06 0.07 0.07 0.07 0.07
1255 |fHE ™ INRR HETIRE/NER 9A 138 [RE-BES] IEHICKVEETHE
1m 0.06 0.06 0.06 0.06 0.07 0.07
50cm 0.07 0.07 0.07 0.07 0.06 0.06
1256 |[fE&E™ INERR HHET IR/ N 9A8H
1m 0.08 0.08 0.08 0.08 0.06 0.06
50cm 0.07 0.07 0.11 0.11 0.07 0.07
1257 |fHE™ INERR HETILILE/NER 9A9H
1m 0.08 0.08 0.10 0.10 0.07 0.07
50cm 0.06 0.06 0.08 0.08 0.06 0.06
1258 |[fBE™ INERR B T ILBEER /N AR 9A138
1m 0.06 0.06 0.08 0.08 0.06 0.06
N N 50cm 0.06 0.06 0.07 0.07 0.07 0.07
1259 |[fBE™ INERR HHETHIL B I A/NERR 9A138
1m 0.07 0.07 0.07 0.07 0.07 0.07
N N 50cm 0.06 0.06 0.08 0.08 0.06 0.06
1260 |[fBE™ INERR FBE T I/ \IB/ AR 9A9H
1m 0.07 0.07 0.08 0.08 0.06 0.06
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS FREREFAEME(U Sv/h)
No. | mTH =& PRELT e om (- ABED T 1E) oz
m 5[ 1408 5[ 140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
N N 50cm 0.07 0.07 0.06 0.06 0.07 0.06
1261 |[fBE™ R HETILDHE— P 9A8H
1m 0.07 0.07 0.06 0.06 0.06 0.06
N e N 50cm 0.06 0.06 0.07 0.07 0.07 0.07
1262 (Y8BT el 5 HHETIL A E ZfER 9/ 148
1m 0.06 0.06 0.07 0.06 0.07 0.07
N N 50cm 0.06 0.06 0.09 0.09 0.07 0.07
1263 [fHET™ el 5 HE T IL RIS 2R 9A8H
1m 0.08 0.08 0.08 0.08 0.06 0.07
N N N 50cm 0.07 0.07 0.08 0.08 0.06 0.06
1264 (Y8BT el 5 B T XL BEER AR 9A138
1m 0.06 0.06 0.07 0.07 0.06 0.06
N N - 50cm 0.07 0.07 0.09 0.09 0.07 0.07
1265 |[fB&E™ EEFR HERSK 9A138
1m 0.08 0.08 0.09 0.09 0.07 0.07
N N e 50cm 0.08 0.08 0.07 0.07 0.08 0.08
1266 |fEE™ EEFR HEEKR 9A8H
1m 0.07 0.07 0.06 0.06 0.08 0.08
- o 50cm 0.10 0.10 0.08 0.08 0.09 0.09
1267 |FEHEET  |HFRIXERR HEXEER 9898
1m 0.10 0.10 0.07 0.07 0.08 0.08
N ) N 50cm 0.08 0.08 0.07 0.07 .
1268 |[fHE™ HIEFR HEREEMER 9A8H [RE-EEZE] 8L
1m 0.08 0.08 0.07 0.07
) 50cm 0.09 0.09 0.08 0.09 0.11 0.11
1269 |\mMET |REE FOFREERETS2E 9A7H
1m 0.09 0.09 0.08 0.08 0.10 0.11
) 50cm 0.07 0.07 0.08 0.08 0.08 0.08
1270 | mHEET |REE FOIXRBEE 9A7H
1m 0.08 0.08 0.08 0.08 0.08 0.08
. 50cm 0.11 0.11 0.09 0.09 0.07 0.07
1271 \mHEET  |REE FOIXE RREEFEE 9A7H
1m 0.10 0.11 0.09 0.09 0.07 0.08
_ 50cm 0.07 0.07 0.06 0.06 0.07 0.07
1272 |\ mHET |REE LETRE 8A31H
1m 0.07 0.07 0.06 0.06 0.06 0.07
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS EERE FAEE(L Sv/h)
No. | iBr#t K5 SREL i (R ARDF k) %
m 5[ 1408 5[ 140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
50cm 0.07 0.07 0.06 0.06 0.07 0.07|
[#%E-EEZE] EAlEE
1m 0.06 0.06 0.06 0.06 0.06 0.06
1273 |FEHEET |REE MNERBER VE—————————A———————A—————————F -
50cm 0.07 0.07|
[#RE-EEZ] LAEE
1m 0.06 0.06
50cm 0.08 0.08 0.08 0.08 0.07 0.07
1274 mHET |REE hAEDRBEER 9A9H
1m 0.07 0.07 0.07 0.07 0.06 0.06
o 50cm 0.13 0.13 0.08 0.08 0.11 0.11
1275 ([FAEE™ |[REE ARV EDLY 8827H [RE-EEE] HEE
1m 0.10 0.10 0.08 0.08 0.10 0.10
) 50cm 0.07 0.07 0.08 0.08 0.10 0.10
1276 |\mHET |REE CELDR(HRDOR) 8827H
1m 0.08 0.08 0.06 0.06 0.09 0.10
50cm 0.07 0.07 0.07 0.07 0.09 0.08
1277 (FAHEE™ |[REE FEHTEREER 8A31H
1m 0.07 0.07 0.07 0.07 0.08 0.08
N 50cm 0.08 0.08 0.08 0.08 0.07 0.07
1278 \mHET |REE RETSSWNMEEE 8H27H
1m 0.07 0.07 0.08 0.08 0.07 0.07
i 50cm 0.10 0.10 0.10 0.10 ‘
1279 |FHET |REE FERA-IZSIZTSNYR 8A31H EFERBEOIEN =, REODOHAE
1m 0.09 0.09 0.10 0.10
_ 50cm 0.07 0.07 0.09 0.09 ‘
1280 |\mME™ |RBE EHEEMILRRRENERER SU3E| 8A27H EFERBEOIEN =, REODHAE
1m 0.06 0.06 0.08 0.08
= = Ul s Ay 50cm 0.09 0.09 0.08 0.08
1281 BT |REE REVIMBZIVEILYS— | sama [ - B ] L
- 1m 0.08 0.08 0.08 0.08
LS — . 50cm 0.07 0.07 0.09 0.09
1282 [BHAET  |REE a MEREE I-I592 | gmapg EMERROMSEN -0, RRODHIE
R 1m 0.06 0.06 0.08 0.08
50cm 0.09 0.09 0.08 0.08 0.08 0.08
1283 |\mHET |REE BEhE&LE 8A31H
1m 0.08 0.08 0.08 0.08 0.08 0.08
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS EERE FAEE(L Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | iBr#t K5 SREL i (R ARDF k) %
m 5[ 1408 5[ 140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
50cm 0.07 0.07 EFERBOMEN =0, FEOOHE
- —_——— - FH ¥ pUunN 200, =3 A e
1284 mMET |RBE [RETICCICCRER 8A27H - 007 007 [ hepE BEREE | L
_ 50cm 0.13 0.08 0.06
1285 ([FAHEE™ |[REE HBHEIFERVXVEEYS RE 8H26H it =
1m 0.13 0.08 0.05
‘ . 50cm 0.06 0.06 0.08 0.08 0.07 0.07
1286 |FEHEET |CELE RETE2CCLE 9A7H
1m 0.07 0.07 0.09 0.09 0.07 0.07
. ) . 50cm 0.09 0.09 0.09 0.09 0.08 0.08
1287 |mtEE™ |CEEE BEMREIELELE 8H26H
1m 0.06 0.06 0.06 0.06 0.07 0.07
) ) 50cm 0.06 0.06 0.09
1288 |FEEHEET |CELE BEL\AIEE 8A318 FriRHh
1m 0.07 0.06 0.09
N 50cm 0.08 0.08 0.07 0.07 0.06 0.06
1289 |\mMEE™  |HFHE EHEETISTH#E 882780
1m 0.07 0.07 0.06 0.06 0.06 0.06
50cm 0.08 0.08 0.07 0.06 0.06 0.06
1290 |\RAMEET™  |HFE MBI KEHNHE 8H26H
1m 0.08 0.07 0.06 0.06 0.05 0.05
50cm 0.07 0.07 0.06 0.06 0.06 0.06 .
1291 |\mME™  |9FHE FAMREMHIL/GRMH#E 98138 [EFG] No.1304Fa#E B L /\iR/MVEREH A
1m 0.07 0.07 0.06 0.06 0.06 0.06
N 50cm 0.06 0.06 0.07 0.08 0.06 0.06
1292 \mMET  |9FHE HEHETMIIESHNHE 9A9H
1m 0.06 0.06 0.07 0.07 0.06 0.06
50cm 0.08 0.08 0.08 0.08 0.08 0.08
1293 |\mMET  |9FHE BEH#E 8A31H
1m 0.09 0.09 0.06 0.06 0.09 0.09
50cm 0.08 0.08 0.08 0.08 0.08 0.08
1294 (FEHEE™  |4FE S YLFHE 8A31H
1m 0.08 0.08 0.09 0.09 0.08 0.08
50cm 0.08 0.08 0.06 0.06 0.08 0.08
1295 ([FAHEE™  |4IFE [RET A 75 A 5 FHEE 9A7H
1m 0.08 0.08 0.06 0.06 0.08 0.08
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS FREREFAEME(U Sv/h)
No. | mTH =& PRELT e om (- ABED T 1E) oz
m 5[ 1408 5[ 140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
N N 50cm 0.09 0.09 0.09 0.09 0.08 0.08
1296 ([FAMEE™  |[/VER FAE ST ILRET S — /AR 8A31H
1m 0.08 0.08 0.09 0.09 0.08 0.07
N N 50cm 0.09 0.09 0.11 0.11 0.07 0.07
1297 (BT |[/VER FAE ST ILIRETSE — /N 8A31H
1m 0.09 0.09 0.10 0.10 0.07 0.07
N N 50cm 0.08 0.08 0.08 0.08 0.07 0.07
1298 |FEHEET  |/DER EHRETILRETE = /DR 9878
1m 0.08 0.08 0.09 0.09 0.06 0.06
N 50cm 0.08 0.08 0.09 0.09 0.06 0.06
1299 ([FAHEE™  |[/MVER FMEEMIIEFE/NER 882780
1m 0.08 0.08 0.08 0.08 0.06 0.06
50cm 0.07 0.07 0.06 0.07 0.06 0.06
1300 (FEHEE™  |[/MVER FEHHETILKE /N 8H26H
1m 0.07 0.07 0.06 0.06 0.06 0.06
50cm 0.09 0.09 0.09 0.08 0.08 0.08
1301 ([FEMEE™  |[/MVER FEHH BT KE/NER 8H26H
1m 0.09 0.09 0.08 0.08 0.07 0.07
N . N 50cm 0.09 0.09 0.09 0.09 0.07 0.07
1302 ([FAHEE™  |[/VER FHHEMIL B ME—/NER 8A31H
1m 0.10 0.10 0.09 0.09 0.06 0.06
N . N 50cm 0.08 0.08 0.11 0.11 0.08 0.08
1303 |FEHEET  |/MER EHRENIIAMEZ/INER 9878
1m 0.08 0.08 0.11 0.11 0.07 0.07
50cm 0.07 0.07 0.08 0.08 0.07 0.07 .
1304 |FEHEET  |/DER MBI/ RN 98 13R8 [IEF] No1291 gt B mISL/ RS FEE S
1m 0.07 0.07 0.08 0.08 0.06 0.06
N N N 50cm 0.09 0.08 0.08 0.08 0.06 0.06
1305 |FEHEET  |/DER AEETILES/NER 9898
1m 0.09 0.08 0.08 0.08 0.06 0.06
N N 50cm 0.09 0.09 0.07 0.07 0.06 0.06
1306 |FEHEET  |/DER ARSI EEH/NER 9898
1m 0.08 0.08 0.07 0.07 0.06 0.06
N 50cm 0.09 0.09 0.11 0.11 0.08 0.08|FEHEBETIEHNER. MHEETIEE/NE
1307 |FEHEET  |/DER AHEEMIL/NE/NER 8H26H B, FAEETIBR/NEREEREER
1m 0.09 0.09 0.11 0.11 0.07 0.07|[ &BE-ERES 1 dLfElikkE
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS EERE FAEE(L Sv/h)
No. | iBr#t K5 SREL i (R ARDF k) %
m 5[ 1408 5[ 140 5[ %140
RERR | AEHE | AR | HERE | HERE | AERE
" . . 50cm 0.16 0.16] N
1307 |FEHEET  |/DER AREMIL/INE/NER 8H26H [#RE-EEZE] mAlkE
1m 0.14 0.14
N N 50cm 0.08 0.08 0.10 0.10 0.07 0.07
1308 |FEHEET™ PR EHRETILRETE —FER 9878
1m 0.09 0.09 0.09 0.09 0.07 0.07
N N 50cm 0.08 0.08 0.09 0.09 0.06 0.06
1309 |RMEE™  |PER R ETILRET S8 — h iR 8H27H
1m 0.07 0.07 0.08 0.08 0.06 0.06
N N 50cm 0.07 0.07 0.09 0.09 0.07 0.07
1310 |RHE™  |PER R ETMILRRTE = PR 8H26H
1m 0.07 0.07 0.08 0.09 0.07 0.07
N N 50cm 0.09 0.09 0.08 0.08 0.08 0.08
1311 |mHET  |PER FEHHE I AR 8A31H
1m 0.09 0.09 0.08 0.08 0.08 0.08
N N 50cm 0.07 0.07 0.08 0.08 0.06 0.06
1312 |FEHEET PR EHRETNIIEE DR 9898
1m 0.07 0.07 0.09 0.09 0.06 0.06
N N N 50cm 0.10 0.10 0.08 0.08 0.11 0.11
1313 |mHET  |PER BB IL/NG 2R 8H26H
1m 0.09 0.09 0.08 0.08 0.10 0.10
N N _ 50cm 0.09 0.09 0.10 0.10 0.06 0.06
1314 | mHET |[BEFEK HEEESK 9A7H
1m 0.09 0.09 0.09 0.09 0.06 0.06
N N o 50cm 0.09 0.09 0.10 0.10 0.06 0.07
1315 [FAHEE™ |[BEEK [RETER 9A7H
1m 0.08 0.08 0.08 0.08 0.06 0.06
50cm 0.10 0.10 0.09 0.09 0.10 0.10| R
[#RE-EEZ] LAIRE
N N N L N 1m 0.09 0.09 0.09 0.09 0.10 0.10
1316 |FEHEET |SFER INSEERMTEEER 8FBA——F————A———A———————————————F -
50cm 0.09 0.09| R
[RE-EEZE] BEAkE
1m 0.09 0.09
. . 50cm 0.08 0.09 0.07 0.08 0.08 0.08
1317 |ILEPHT ZELE LHELFIELE 8H26H
1m 0.08 0.09 0.07 0.07 0.08 0.08
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AESS TR EFPEME L Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | iBr#t K5 SREL i (R ARDF k) %
m 4@ $14@ 4@ %14@ 4@ %14@
PERE | AERE | AERR | PEHE | HERE | HERE
50cm 0.10 0.11 0.08 0.08 0.08 0.09 )
1318 IR EFHT INEERR IREFET 3L IR B /NVEAR 8H26H [EM] B14EEIEZFICKVAIEAER
1m 0.1 0.12 0.09 0.09 0.08 0.08
50cm 0.08 0.08 0.08 0.08 0.07 0.08
1319 | EFHT el 5 LTI A B R iR 8H26H
1m 0.08 0.09 0.09 0.08 0.07 0.07
50cm 0.05 0.05 0.07 0.08 0.07 0.09 . N —
1920 [IKEFAT |ohep BRRISLERREEEER | 87268 S IS ] Notsz1 SR
1m 0.06 0.06 0.07 0.08 0.07 0.08 2™ XS
50cm 0.05 0.05 0.08 0.09 0.07 0.09[ Epg 1[ #e5E-EIREZ 1 Nol320i8 BB 5 5 F=
1321 |7 AT EEPR ENEFE T3ty 88268 i atenfinria : mEI A=
mEE mEE im 006] 006 oo8| o0o0s| o007 0.08|[FRFFERFIREAR
) 50cm 0.18 0.17 0.09 0.09 0.08 0.08 . N N
1322 (A ZEHT ZELE HHTLIELR 8H25H F1AREHREAM BENILHHTOIELE
1m 0.17 0.17 0.06 0.06 0.08 0.08
50cm 0.08 0.08 0.09 0.09 0.07 0.07|0 IEF 1L #xBE-ERES ] No.13244B ZERT IR ZE
JE/NEEAR . No. 13258 SERT S A B ch 2P L R
REEAT N H ST B SRS 8B 258 m 0.08 0.08 0.08 0.08 0.08 0.08|[ #pE-EREZ ] B1559VF
1323 INEERR IBIER/NER 5 s -
s u s 50cm 0.07 007|[ RE-BHEZ] F2557FK
No.132448 ZEAT ST AR ZEJb /NS4 . No.132548 ZEHT
im 0.06 0.07 | EER
50cm 0.08 0.08 0.09 0.09 0.07 0.07|0 IEF 1L #xBE-ERES ] No.13231B ZEAT IR ZE
/N No1 32548 SERT ST BE ch 2P 4k L
WA a2 AT R 8H258 im 0.08 0.08 0.08 0.10 0.08 0.08|[ #pE-BEREZ ] B1559VF
1324 INEERR v i =2t 5 BT i e et -
e = s 50cm 0.07 007|[RE-BHEZ] F2557FK
No.132348 ZERT 748 ZE R/ INF4% L No. 132548 ST
im 0.06 0.07 | IR EER
50cm 0.08 0.08 0.11 0.11 0.07 0.07|[ IEF 1L #xBE-ERES ] No.13234B ZEAT IR ZE
/N No 1 32448 SERT ST ZE Jb /N AR & £ R
T s . 8H 255 m 0.08 0.08 0.10 0.11 0.08 0.08|[ #:pE-BEEEZ ] B1559K
1325 S STARTE chEk 5 B T -
s * s 50cm 0.07 007|[RE-BHEZ] F2557FK
No.132348 ZERT ST A ZE R/ INF4R L No. 132448 ZERT
im 0.06 0.07 | EEL/ iR L A
50cm 0.22 0.22 0.11 0.11 0.12 0.12
1326 |= AT ZELE [ZCIZCCELE 8H25H
1m 0.15 0.15 0.10 0.10 0.12 0.12
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EEEREMERE=2) VAT CEREE15E)ER
(HSF3%E8H168~9HA 16 BENE)
[RF A K EH M FRAED (RETHRYT)
RBREEKEXMKEARE (EFHID
AESS TR EFPEME L Sv/h)
S - EFS fk0O PR Bz
No. | AH K5 FREEH BE | Som (B3R 4RO T 19{E) %
im i #1468 | 4@ 146 | 4@ 146
FERR | HERE | HERE | PERE | HERE | HERE
= T T T — o — 50 0.16 0.16 0.10 0.10 0.13 0.13|[ EM Il RO I[ &BE-EE f;‘-; No.1328 = [
1327 |EEET |iha EEVISEE-NFHRERE= | smpsa—— BT B i MRS = e B R
FRE [ im 0.12 0.12 0.10 0.10 0.12 0.13|F
= T = e — 50cm 0.16 0.16 0.10 0.10 0.13 0.13|[ EEFM Il 0O I &k -BEES ] No.13275 @
1328 |BRAT |tk EOVISAS-REREME= | spsa BT R — /N2 B = NP E RS
TS X im 0.12 0.12 0.10 0.10 0.12 0.13|F
) 50cm 0.08 0.08 0.09
1329 |JIIA%E ZELE MH5LGREE 8A24H BERICKYFR R
m 0.08 0.07 0.08
. 50cm 0.12 0.13 0.09 iR S
1330 |JIIA%E INEERR JIRA NP2 E (BT EIERTE) 8H24H [EMI FEO I #RE-BEZF] No.1331JIIK
m 0.1 0.12 0.08 FILNRNR R (R HERAE) L3 A
i 50cm 0.12 0.13 0.09 iR S
1331 |JIIA%T gL JIRA NP2 E (£ BIERFE) 8H24R [EM I FEO I RE-BEZF ] No.1330JIIK
m 0.1 0.12 0.08 F IR h R (RTHERAS) £t A
50cm 0.08 0.08 0.06 0.06 0.07 0.07
1332 |;RiTHT ZELE RITICCWAZELE 8A25H
m 0.07 0.07 0.06 0.06 0.07 0.07
- . e s . 50cm 0.09 0.09 0.08 0.08 0.08 0.08) PR I[ FRe0 10 ke -BERESE ] No.13343R5T
1333 |;RiTHT INEEAR SRITET I & A B B/ INERR 8H25H - 008 008 007 007 007 007 [T AP et ey aiingcn
s . e s . 50cm 0.09 0.09 0.08 0.08 0.08 008 PR 1L FRe0 10 epe-BERESE 1 No.13333R5T
1334 3RITET R SRITHETSI787 Z BRI B P AR 8A25H - 008 008 007 007 007 0,07 BT % BRI 3t A
N 50cm 0.14 0.14 0.11 0.11 0.12 0.12 [IEFS] No.13363 A LB R /N4 No.1337
1335 |EEHf iR ERMIBENHE 88 19H - 13 013 T o011 13 013 BN TR et b 2
50cm 0.14 0.14 0.10 0.10 0.14 0'14[%I)E='F7?T] ggg%}f@?ﬁ% E4FEE. No.1337
e + 3 o EM AL = ERREH N
1336 | BEH INEERR EEREMIBE/NMNER 88198 [RIEO I R EREE ] Nol337EEMTE
m 0.13 0.13 0.10 0.10 0.13 0.13| Bk b st
50cm 0.14 0.14 0.10 0.10 0.14 0'14[%I)E='F7?T] h%;;s:s]s%*%ff;m% E4FEE. No.1336
. + 3 2 EMIIBE/NFREH
1337 |EEH R EREMIBEDER 88 19H [RIEO I A RE- R ] No.l336EEATE
m 0.13 0.13 0.10 0.10 0.13 0.13| B/ S b4
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

BESS TR EFAFEE L Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | AH K5 FREEH BE | Som (B3R 4RO T 19{E) %
m 5[ 1408 5[ 140 5[ %140
PEHR | AERE | AR | HERE | AEHE | TR
_ 50cm 0.06 0.07 0.06 0.06 0.05 0.06
1338 |FrtthET REE B/ ERER 9/ 108
1m 0.06 0.06 0.07 0.06 0.05 0.05
_ 50cm 0.06 0.06 0.07 0.07 0.06 0.06
1339 |#rihET RER R E 9A 108
1m 0.06 0.06 0.06 0.06 0.05 0.05
50cm 0.07 0.07 0.07 0.07 0.05 0.05
1340 |#rihET INERR Frith BT 31 B4 8/ NEAR 9/ 108
1m 0.07 0.07 0.06 0.06 0.05 0.05
50cm 0.06 0.06 0.08 0.08 0.06 0.06
1341 |HrithET INRR Py ith BT 37 Frith /N AR 9A10R
1m 0.05 0.05 0.08 0.08 0.06 0.06
B 50cm 0.06 0.06 0.06 0.06 0.06 0.06
1342 |#rihET INERR BT SR H /N ERR 9/ 108
1m 0.06 0.06 0.06 0.06 0.05 0.05
N N 50cm 0.07 0.07 0.08 0.08 0.06 0.06
1343 |#rihET el 5 b BT 37 18] 3 AR 9/ 108
1m 0.06 0.06 0.07 0.07 0.06 0.06
N N _ 50cm 0.08 0.08 0.07 0.07 0.06 0.06
1344 |#rihET EEFR e 9/ 108
1m 0.07 0.07 0.07 0.07 0.06 0.06
. . 50cm 0.09 0.09 0.08 0.09 0.08 0.08
1345 |BREEHT ZELE BREEMIETLDENDCELE 8A30H
1m 0.10 0.09 0.08 0.08 0.08 0.08
. BRIV TH LD B2 E (15 50cm 0.11 0.13 0.10 0.10 0.11 0110 EPA 1T FRe0 10 BepE-BEREZ ] No.13478RER
1346 |BREEHT INERR t@zn 8A30H - i = (74 #EzEI0
E%?E) 1m 010 011 010 011 011 011 *11‘:‘[/‘7‘.‘(%%0)2—?(1&;&5&*5)&‘#&%
. SRR IV THR LD B2 E (%5 50cm 0.11 013 0.10 0.10 0.11 0110 EPA 1T FRE0 10 BeE-BEREZ ] No.13468R3%
1347 |BREEHE PR f@zn 8A30H - i = (= upzman
E%?E) 1m 010 011 010 011 011 011 *11‘:‘[/‘7‘.‘(%%0)2—?(ﬁ']%ﬂn%*i)t‘;ﬂem

¥ TE14EAERRIEE. SMN2FE8A26ANS10A6HICEELI-MEERBRERITRE=L2ILVRE(EREF14E) IIIBTHHAEHR. TOMISOVTE., HEEWISEEHT 5.
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